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fraction 154 + 2610/, ; into amixed
number

13,37,11, 2,12, 28, 30, 28, 7, 10,
38,21,2,34,37,7,5,39,3L9

1) Anamount wasincreased by 8% to 2) 1183+ 13 3) Find area of
$252.00. Find the original amount. b rectangle having
sidesa= 8780 ft
a and b= 7516 ft
Answer: Answer: Answer:
4) 119/, x 39%/,, 5) %/5q Of 258 6) Find area of triangle
a p h=6206ft, a=9271
ft,
c b = 9533 ft, c = 9918
ft
Answer: Answer: Answer:
7) 418474+ 421 8) Anamount was decreased by 9% to 9) Find perimeter of
$320.00. Find the original amount. triangle
b b a=98%ft,b=
9969 ft
a
Answer: Answer: Answer:
10) Convert the followi ng i mproper 11) Find the median of the following set of data: 12)

/

'Name the type of angle.

Answer:

sidesa=8239cm
a and b =8134cm

Answer:

Answer: Answer: Answer:
13) Share 63 in theratio 16:47 14) Find perimeter of 15) Convert the following mixed number
b rectangle having 39 1g into an improper fraction.

Answer:
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16) A number ischosen at random from
1 to 75. Find the probability of
selecting odd number.

17)  Write2 x 108 asanormal number.

18)  Round 1.590 to the nearest 1000

Answer: Answer: Answer:
19) Find the percentage change from 120 20) Find area of square 21) A number was shared in the ratio
to 354 having each side () 79:17. The smaller share was 34.
s equals 3690 m What was the larger amount?
s
Answer: Answer: Answer:

22)  Write 9 x 10° asanormal number.

23)  Increase 257 by 51%

24) 7854 x 2191

Answer: Answer: Answer:
25) 16%,5x 112/, 26) Find perimeter of 27) 19716% Yo
square having each
s side (s) equals 1888 cm
s
Answer: Answer: Answer:

28)
Find the next three numbersin

the sequence
4,00,-4,-4-8-8_, ,

Answer:

29) Convert the following improper
fraction 111/, ¢ + 19, into a mixed
number

Answer:

30) $496.66 earning 1.9% compound
interest for 5 years.

Answer:
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31) Find the mode of the following set of data: 32) Find the mode of the following set of data: 33) 88 x 100

62, 62, 62, 62, 99, 99, 99, 99, 113,
113, 113, 113, 114, 114, 114, 114,
114

Answer:

62, 62, 62, 62, 99, 99, 99, 99, 113,
113, 113, 113, 114, 114, 114, 114,
114

Answer:

Answer:

34)  3892.2+998

35) 83000 + 1000

36) (10x 10%) / (2 x 4°5)

Answer: Answer: Answer:
37) Find perimeter of 38) Find the range of the following set of data: 39) Find area of square
triangle -1,-8,15, 15,5, -9, 11, 12, 0.7, 15, having each side (s)
b ¢ a=9930ft b= 0 s equals 5770 cm
9946 ft,
a C = 9987ft B
Answer: Answer: Answer:
40) $78.00 earning 1.9% compound 41) b 42)  Factorise 8d2 + 50d + 12
interest for 4 years.
a 0] c
Measure angle boa
Answer: Answer: Answer:

43)  72x100

Answer:

44)  Increase 158 by 43%

Answer:

45) Decrease 315.4 by 57%

Answer:
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46) Find perimeter of 47) 20.6 x 84.1 48) Anamount was decreased by 4% to
b rectangle having $306.00. Find the original amount.
sidesa= 8820 ft
a and b = 7233 ft
Answer: Answer: Answer:
49)  Anamount was decreased by 5% to 50) 51)  Round 4.84010 to the nearest whole
$150.00. Find the original amount. number.
A =42 B
Find the Angle at side B.
Answer: Answer: Answer:
52) 79% of 102 53) Increase 28by %/, , 54)  Increase 57 by ¥/ g
Answer: Answer: Answer:
55) g - 271, 56) Round 12.64942797 to the nearest 57) 32110-2lg
1000
Answer: Answer: Answer:
58) 59) $208.64 earning 6% compound 60) 2000 + 100
Find the next three numbersin interest for 8 years.
the sequence
64,60,240,236,944,940,3760 _, ,
Answer: Answer: Answer:
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61) Find perimeter of 62) (9+18%) x 17x 14 63)  Round 19.6 to the nearest 10
b rectangle having
sidesa=8625m

a and b =6627 m

Answer: Answer: Answer:
64) ¥ 2 65) g+ 30/ 66) 5% 24
2-3
Answer: Answer: Answer:

67) 71293.6 + 812

68) Convert the following fraction into a
mixed number: 7%/, -

69) Share 60 in the ratio 1:29

Answer: Answer: Answer:
70) 11619 71) Find area of square 72) (68)14
having each side (s)
s equals 2653 m
s
Answer: Answer: Answer:

73) 23%,,+ 2513, ,

Answer:

74) Solve by factorising
f2-4f+3=0

Answer:

Find Volume of
Rectangular Pyramid

Answer:
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An amount was decreased by 3.4% to

76) Anamount was decreased by 3.4% to 77)
$263.79. Find the original amount.

$263.79. Find the original amount.

78)  61%o0f 32

triangle s= 6046 cm

Answer: Answer:

Answer: Answer: Answer:
79) 42+ (-14) 80) 5 o 81) Find area of square
81 having each side (s)
s equals 4439 in
s
Answer: Answer: Answer:
82) Round 11.912201 to the nearest 1000 83) Find area of 84) Round 29.2303063 to 2 decimal

places.

Answer:

86) A number ischosen at random from
1to 75. Find the probability of
selecting divisors of 19.

85  (-79)x 13

87) Convert the following mixed number
3216/, 5 into an improper fraction.

Answer: Answer: Answer:
88) Convert the following fraction into a 89) Find perimeter of 90) 2+ %
mixed number: 78/, triangle
b b a=8483in,b=
9720in
4
Answer: Answer: Answer:
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91) - 92) Convert the following mixed number 93) Round 5.16019687736 to the nearest
40 Find Volume of 214, into an improper fraction. whole number.
Cylinder
Answer: Answer: Answer:
94) 1 95) 1501 x 2918 96) 1501 x 2918
2
100
Answer: Answer: Answer:
97) 1008 + 28 98) 4015 + 55 99) Decrease 238 by 3/ 119
Answer: Answer: Answer:

100) Convert the following mixed
number 147/4 into an improper
fraction.

Answer:

Total: /100
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1) $233.33 2)91

8) $291.20 9) 29832ft
15) ¥/, 16) 37/
22) 900000 23) 388.07
29) 30% 30) $545.67
36) 2048000000  37) 29863t
43) 7200 44) 225.94
50) 138 51)5

57) 4 g 58) 3756,15024,15020,
64) 315/, 65) 6%
71) 7038409m 72) 67112
78) 19.52 79) -3

85) 86) %5

92) %, 93)5

99) 232 100) 19
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3) 65990480ft
10) 4239
17) 200000000
24) 17208114
31)114

38) 24

45) 135.622
52) 80.58

59) $332.54
66) 212

73) 3241,3630
80) 9

87) 432 4

94) 10

MATHS WORKSHEET

Answers:

4) 45888/,
11) 24

18) 1.59

25) 27Y,

32) 114

39) 33292900cm
46) 32106ft

53) 38

60) 20

67) 87.8
74)f=3orl
81) 19704721in
88) 39

95) 4379918

5) 10
12) Obtuse
19) 195%
26) 7552cm
33) 8300
40) $84.10
47) 1732.46
54) 60

61) 30504m
68) 4%/g

75) 15444
82) 11.912
89) 27923in
96) 4379918

Sr: 08042021-2126
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6) 29580899ft
13)1:62

20) 13616100m

27) ¥l

34) 3.9

41y 122

48) $293.76

55) 1Y,

62)

69) 2: 58

76) $254.82

83) 15828396.534442cm
90) 1Y

97) 36
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7) 99.4

14) 32746cm

21) 158

28) -12,-12,-16,

35) 83

42) (2d + 12)(d + 2)
49) $142.50

56) 12.649

63) 19.6

70) 125

77) $254.82

84) 29.23

91) 191134.4970444
9) 73
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